
Solving the quadratic equation: x 2 + 1 = 0:

Recall: The Quadratic Formula says r1 and r2 are the roots of:
ax2 + bx + c = 0

r1,2 =
−(0)±

√
(0)2 − 4 · 1 · 1
2 · 1

= ±
√

0− 4
2

= ±
√
−4

2√
−4 is not a real number, so there are no real solutions!

Conclusion: There are no real solutions to: x2 + 1 = 0
Note 1: The reason there are no real solutions is that −4 < 0, so the
square root is not a real number
Having −4 < 0 is because −4 = b2 − 4ac < 0
This is similar to what we say for repeated solutions!
Note 2: We will learn more about square roots of negatives soon!

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
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